TRIGONOMETRIC IDENTITIES (FOR MAC1114)
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Sin x 0 1 1 J3 1
2 J2 2
Cos X 1 J3 1 1 0
2 | |2
Tan x 0 1 1 \/§ undef
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2) a)sin(x+y)=sinxcosy+cosxsiny b)sin(x-y)=sinxcosy-cosxsiny
c)cos(x+y)=cosxcosy-sinxsiny d)cos(x-y)=cosxcosy+sinxsiny

tan x+tan y ) tan(x-y) = tan x—tan y

e) tan(x + = _—
) tan(x +) 1-tan xtan y l+tan xtany

3) a) sinxcosy=% [sin(x+y) +sin (x-y) ]
b) cos x siny = 1[sin(x+y)—sin(x—y)]

¢)sinxsiny = = [ cos (x-y) - cos(x +Y)]
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d) cosxcosy = > [cos (x +y) + cos (x-y)]

4)a) sin x+sin y:23in%cosﬂ b) sin x—sin y:2cosX+ysinX;y
C) COSX+Cosy = Zcos%cos% d) cosx—cosy = —Zsinusin%

cos® x—sin? x

5) a)sin2x=2sinxcosx b)cos2x={ 1-2sin®x c) tan 2x = ﬂ

1-tan® x
2cos® x-1
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6) a) sinZ:i —1 cos X b) cosézi —1 cosx
2 2 2 2
X 1-cos x sin X
c) tan— = / =
2 1+cosx 1+cosx
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